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NEET - C13 - PHOTOSYNTHESIS IN HIGHER PLANTS

1. Which one is essential for the respiration as well as photosynthesis?

A. Rubisco B. Plastocyanin
C. Ubiquinone D. Cytochrome
2. How many Calvin cycles are required to produce 5 molecules of glucose?
A. 60 B.15
C.30 D.90

3. Areduction in the quantity of oxygen evolution~during photosynthesis may

be observed at

C. the final prodyct

D. number of ATP
6. Which of the following is the first compound that accepts carbon dioxide

during dark phase of photosynthesis?

A. NADP B. RuBP

C. Ferredoxin D. Cytochrome
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7. In the given chart of photophosphorylation. What does ‘A’ represent?

Coyt
Proo P g,
PC)
A.PC
C.PQ

8. Photosynthetic pigments in chlc
A. photoglobin
C. thylakoid

A. phosphoglycerate B. phosphoglycolate
C. glycerate D. glycine
A. Cz plants B. CAM plants
C. insectivorous plants D. phanerogams
12. Which statement about photosynthesis is false?
A. The electron carriers involved in photophosphorylation are located on the
thylakoid membranes
B. Photosynthesis is a redox process, in which water is oxidised and carbon dioxide
is reduced
C. The enzymes required for carbon fixation are located only in the grana of chlorop

lasts
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D. In green plants, both PS-1 and PS-II are required for the formation of NADP+H *
13.Cyclic-photophosphorylation results in the formation of

A. NADPH

B. ATP and NADPH

C. ATP, NADPH and oxygen

D. ATP
14.Match the name of the scientists given under Column | with their important

contributions given under Column Il, cho answer, which gives

correct combination of the alphabets

Column | (Scientist) Colyyr{n Il Qoﬁtributic\»g) \
A. Peter Mitchell 1. Law of limitigg fac‘r@r\ / /

B. Blackman 2. Da}«/weacljon
C. Daniel Arnonn S/F’hotosy hetic pho\sgihorylati{ﬁ 5
D. Melvin Calvin 4. Chem‘l‘e{notic hypotheéii

A.a-4 b-1, c-3, o&“/

position X

C. chlorophyll-a kas a tarboxyl grgp and chlorophyll-b has an aldehyde group in
position X
D. chlorophyll-a has an ethyl group and chlorophyll-b has an aldehyde group in

position X

16.1In the given schematic diagram, which is plastocyanin?
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A.C
C.A

A. Calvin cycle
C. TCAcycle

D. potassium

ion ADP + P4 = ATP during day shows
B. photophosphorylation

D. dephosphorylation

A. The primary COz acceptor is a 5-carbon molecule
B. The initial carboxylation reaction occurs in mesophyll
C. The leaves that fix CO2 have two cell types
D. The mesophyll cells lack Rubisco enzyme
22.In which one of the following nitrogen is not a constituent?
A. Invertase B. Pepsin

C. Idioblast D. Bacteriochlorophyll
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23.The absorption spectrum of chlorophyll
A. shows that some colours of light are absorbed more than the others
B. approximates the action spectrum of photosynthesis
C. explains why chlorophyll is a green pigment
D. has all the above properties

24. Which of the following is a simplified equation of photosynthesis?

Light energy
COy +2H,0—=2—"=2 _,C5H;yO4 + H,0+0, T
2 Chlorophyll > 10-4 ™22 m+2

Light energy

CO, +2H50
2 2 Chlorophyll

— (CH,0), +0, T

Light energy

C02 +2H 20
Chlorophyl |

— C3HgO3 +CO,(+ 0, T

Light energy

CO, +2H,0
2 2 Chlorophyll

—(C

25.Study the followin and choose the co

Columr}/ CoTNQn Il

A. Oxygen evolvihg comfplex \Potés\um ferric oxalé\ \

B. Prot/ou»gra—diem\ PN%h oxysen concentratiom—"

C. 7m reey,em\) 3. ATP§§che§Ts\

D. rhotc(respiration 4. Pheophy
\ N — Nhotolysis of water

B.a-1, b-2, c-4,d-5
D. a-3, b-4, c-5, d-1

S.THIYAGARAJAN. M.SC., M.PHIL., BEd.,
PH: 9944664846
Magalingapurum, Pollachi.

Kindly Send Me Your Key Answers to Our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

NEET - C13 - PHOTOSYNTHESIS IN HIGHER PLANTS - KEY

1.D 2.C 3.A 4.B 5.B

6.B 7.C 8.C 9.B 10.B
11.B 12.C 13.D 14.A 15.A
16. B 17.B 18.B 19.A 20.B
21.A 22.C 23.D 24.D 25.A
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